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
cR R 

R,L,C 
A.O.





RLC 


 

/Z U IZR,L,C,ω 







 
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 

 

 
1


2 
3 
4 
5

 

 
1

 
 
 

2 
3 
3 

 
1 
–

– 
–

–
x(t)=Xcos(2πt/T+φ) 

 
2 
RLC
–

 
 
 

q(t)=Qcos(2π t/T+φ)
 

333 
– 
RLC 
 
4– 
 

 
–––

––
––––
––GBF
 

 
 
 

 
 

 
 

 
 

 

mailto:@�H
mailto:G@�L
mailto:���@Gg�
mailto:N@�
mailto:��j@j�
mailto:@ĳ
mailto:@�
mailto:t�@s_
mailto:���@Gg�
mailto:t�@s_
mailto:t�@s_
mailto:�f@H
mailto:8���@Gg
mailto:@W
mailto:�f@H
mailto:u@_
mailto:J�@TL
mailto:@W
mailto:@W
mailto:J�@TL
mailto:@W
mailto:@�
mailto:�@Ggĳ
mailto:���@Gg�
mailto:��@j�
mailto:8��@j�
mailto:��f@�
mailto:@W
mailto:@�L
mailto:N@|
mailto:@o�
mailto:J@L
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I- 
1 


 

2– 
 
 
 

3 
1.3 

1.1.3 
 (o)  (m)  (s) 

t = 0  
(AÀ)  (o)  (s) 





x


 

)(R(S)SRF /(O)
k 

X(O)ixkF SR ../  
 

 
m 

SS)OX( 

amFRP .OXamF . 


2

2

..
dt

xd
mxk  

2

2

0........ 1d x k
x

dt m
   

)cos()( 00   tXtx

mailto:@�
mailto:@S
mailto:J@�
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mailto:@L
mailto:@P
mailto:�LG@O
mailto:@��
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mailto:@|
mailto:@j
mailto:Ij@�
mailto:Lj@G
mailto:�@w
mailto:@�
mailto:@W
mailto:@�
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mailto:@G
mailto:@�d
mailto:���@kL
mailto:@|
mailto:@�
mailto:@LG
mailto:@O
mailto:N@�
mailto:yG@�
mailto:@�
mailto:MG@PG
mailto:@SfE
mailto:�@�OA
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0X)m( 
0ω)s/rad ( 

φ)rad(

0ω 

x(t) 

2
2 2
0 0 02

( )( ) . cos( ) . ( ).....(02)d x t
a t X t x t

dt
        

0102 

m

k
0 

0T

)S ((s) 

k

m
T 


 22

0
0  

0f 

(Hz)


2

1 0

0
0 

T
f 

 

)sin(.)()( 00   tX
dt

tdx
tv 

 
 

)cos(.)()( 0
2
02

2

  tX
dt

txd
ta 

x(t)v(t)a(t)0 

 

mailto:@G
mailto:�f@H
mailto:@P
mailto:�f@H
mailto:G@�
mailto:@G
mailto:�f@H
mailto:@LL
mailto:@P
mailto:�f@H
mailto:@P
mailto:@G
mailto:f@kL
mailto:G@k
mailto:@�H
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
–Ec = ½ m v²Epe= ½  kx² 

ctekXtEtEtE pec  2
02

1)()()( 

 

 

E(t) 

0
dt

dx
kx

dt

dv
mv

dt

dE
0

2

2

 x
m

k

dt

xd
 

)cos()( 0   tXtx 

0 

2.1.3 
 

 


 

TT0 
b
 







T ≈ T0 

 

mailto:@|
mailto:@|
mailto:@�
mailto:@|�
mailto:@|
mailto:@P
mailto:@�L
mailto:MG@O
mailto:@G
mailto:@�
mailto:Lj@G
mailto:Ln@G
mailto:@�
mailto:@P
mailto:@�
mailto:N@��
mailto:@W
mailto:m@X�
mailto:N@L�
mailto:�n@n
mailto:�@�H
mailto:@�
mailto:@�LK
mailto:�@�H
mailto:@�f�b
mailto:N@�
mailto:�@�H
mailto:N@�
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 
33 


 


 
PF0Π

0F0 0P F  
   
 

0..  Lkgm1 
lΔ 
 


 
PFΠf 

amfFP . 
 

. (. ) . .m g k l x h v m a     2 
h 
12 


2

2

..
dt

xd
m

dt

dx
hkx 0.

2

2

 x
m

k

dt

dx

m

h

dt

xd 

 



 
 

amfRFP . 


amfkx . 


2

2

.
dt

xd
mfkx  

0
2

2


m

f
x

m

k

dt

xd 

 
 

c )(

mailto:N@�
mailto:@W
mailto:u@_
mailto:@G
mailto:yG@�
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 

 
T  T0
a )( 
)b( 
T  T0

c )( 

3.1.3 
 








 


 
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)cos()( 0   tXtx 

2.3 
1.2.3 


 


2.2.3 
 


 
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– 
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3.2.3 
 
 
 
 

 

 
 

)ℓ(
 

4.2.3 
mℓ 
 

 
 
T 
 
 

 

ℓ T l 

g1
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 
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 

 
 

EC1 + EPP1 = EC2 + EPP2EC1 = 0
½mV2 =  mgh1 – mgh2

½mV2 =  mgl(cos - cos 0 ) 

V2 =  2gl(cos - cos 0 )
 

)sin.(.2.2 
dt

d
lg

dt

dv
v 

dt

d
lv




 sin2

2

l

g

dt

d
 

 10 )(sin rad  

02

2

 
l

g

dt

d

).cos(.)( 00   tt 


l

g
0

g

l
T 20  

 
 
= 0φ 
 

 

 

 

 

mailto:@L
mailto:�f@H
mailto:@G
mailto:@�
mailto:u@_
mailto:@��
mailto:@|
mailto:m@�
mailto:@�
mailto:@�
mailto:Ln@G
mailto:@�
mailto:@�H�S
mailto:@�
mailto:@P
mailto:@�wH
mailto:@�f�b
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 
 
 
 
 

 
 
 
 

 
 )a،( 


 
)b.(

 

 

 

 

 

 

 

 

 

 

 

+X0

t(s)

C

mailto:@W
mailto:@�
mailto:@�L
mailto:@G
mailto:cHLj@G
mailto:N@�
mailto:N@�
mailto:N@�
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II-
1 



2 
 

01 
02 

R0 
 :R=R0+r
=00RR= r

 
 

 
(R,L,C) 
R)CR=R( 

 

 
 
R 

R=0 
 
 

01الشكل 

02الشكل 

03الشكل 

mailto:���@Gh�
mailto:���@Gg�
mailto:���@Ggĳ
mailto:@W
mailto:b@H
mailto:b@H
mailto:@S
mailto:@�L
mailto:h@�T
mailto:�n@n
mailto:�@�H
mailto:@|
mailto:J�@�L
mailto:�@�OA
mailto:�@�H
mailto:@�
mailto:@�L�
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RLC 
uC + uL + uR = 0

.L

di
u L r i

dt
 

dt

dq
i CuCq . 

0.  iR
dt

di
LuC0.... 2

2


dt

du
CR

dt

ud
CLuC

0.
.
1... 2

2

 Cu
CLdt

du

L

R

dt

ud 

 

RT  T001 
 R02 

 R = 0LC0.
.
1. 2

2

 Cu
CLdt

ud 

).cos(.)( 0   tEtuC03 
  


LC

1
0 LCT 20  
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RLC 

E = EC + EL 
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 

2.iR
dt

dE
 

 

0
dt
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LCT 20  
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3 


A.O
 

iRir
dt

di
LuC .. 0 

= r0R0
dt

di
LuC0.
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CLdt
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 
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 
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 
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 
 
 
 

III-
 
 

 
 

1 
1.1 

PexitfexitPoscil 
foscil 
fexit< foscil 

 
fexit = foscil 

 
fexitfexit > foscil 

uC(V)

t(s)

T0
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 
 


2

max  

f1 ,   f2 
12 fff f0f0 = foscil 


f

f
Q


 0 

2.1RLC 

RLC 
f 

GBF 
 

 
YAYB 
GBFf0 

i(t) 
 


2

(max)eff
eff

I
I  

f1 ,   f2 

12 fff 0f
CL

f
.2

1
0 
 

RLC


f

f
Q


 0 

 
R'R' > R 

 
R 
R' 

 
Z 


eff

eff

I

U

I

U

ti

tu
Z 

0

0

)(
)(

 

 

C

GBF

k
R L

A

Imax

i(mA)

f0 F(Hz)

منحنى التجاوب

R

R'

Imax

i(mA)

f1 f0 f2 F(Hz)

منحنى التجاوب
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R , L , CZ 
R , L , C , fZ 
 

 
 
 
 
 
 
 

Z = R 
Z = R
Z = Rf = f0

 

i = ImaxZ = R 

Z()

R()

Z()

L(H)

R

L0

Z()

C(f)

R

F0

Z()

f(Hz)

R

f0
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IV-–

 

ABD
UAB + UBD = 0uL(t) + uC(t) = 0 

01
 q

Cdt

di
L

2

2

dt

qd

dt

di
 

01
2

2

 q
LCdt

qd 


)cos()( 00   tQtq 
 

CLT .20  
 

C

tq
tLitE

)()()(
2

2
12

2
1  

 

amFRP . 
amF . 


2

2

..
dt

xd
mxk 

0
2

2

 x
m

k

dt

xd


)cos()( 00   tXtx 
 


k

m
T 20  

 

)()()( 2
2
12

2
1 tkxtmvtE  

 
R L C   

q  x  
i  dx/dt  

di/dt  d2x/dt2 
L  m 

1/C  k 

C

k

L

i

D B A
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